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I. Vocabulary and Structure

Directions: There are 10 incomplete sentences in this part. For each sentence there

are four choices marked A, B, C and D. Choose the ONE that best completes the

sentence.



e.g. Small-market clubs such as the Kansas City Royals have had trouble
with richer teams for championships.
A. contending B. racing

C. fighting D. agreeing

Il. Banked Cloze
Directions: Fill in the blanks in the following passage by selecting suitable words from

the word bank. Each word can be used only once.

lll. Reading Comprehension:

Part A

Directions: You are going to read a passage with 10 statements attached to it. Each
statement contains information given in one of the paragraphs. Identify the
paragraph from which the information is derived. You may choose a paragraph more
than once. Each paragraph is marked with a letter.

Part B

Directions: There are 4 passages in this part. Each passage is followed by some
questions or unfinished statements. For each of them there are four choices marked A,
B, C and D. You should decide on the best choice and write your answer on the
Answer Sheet.

IV. Translation:

Directions: Translate the following into Chinese.

To average British workers, struggling with the daily grind of the nine-to-five
working day, holidays can be the light at the end of the tunnel, sunshine breaking
through the storm clouds. Besides the annual fortnight’s holiday, usually taken in the
summer, there are also public holidays known as “bank holidays”, when, as the name

suggests, banks are closed and those in paid employment are entitled to a day off.

V. Composition
To ease the employment pressure, the government has taken a series of measures,
such as increasing employment opportunities, enhancing job training and
encouraging self-employment. Do you agree or disagree with college graduates’
self-employment? Explain your point of view in the form of an essay in approximately
150-200 words.



